



**Vendor Ranking** 

Call Order: 004

Page 1 of 1

04231103 Letting:

November 03, 2023 10:30 AM

Contract:

E4X04-R0

District 4 District:

Counties: BROWARD

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s)**: 43787937201 (\*)

Contract Desc: BROWARD COUNTY STATE MAINTENANCE OF TRAFFIC

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SAFETY SYSTEMS BARRICADES CORP.	Responsive	Winning bid	\$112,150.00	100.00%
2	BOB'S BARRICADES, INC.	Responsive	Non-Winning Bid	\$141,850.00	126.48%
3	TRAFFICO LLC	Responsive	Non-Winning Bid	\$192,350.00	171.51%
4	ACME BARRICADES LC	Non Responsive	Non-Winning Bid	\$298,600.00	266.25%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

**BEGIN DATE:** 

11/28/23

**BEGIN TIME:** 

10:30 AM

END DATE:

12/01/23

**END TIME:** 

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 100,000.00 and not the contractor's bid total.





#### **Tabulation of Bids**

Page 1 of 5

**Letting:** 04231103 November 03, 2023 **Call Order:** 004 **Contract:** E4X04-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43787937201 (\*)

Contract Descr: BROWARD COUNTY STATE MAINTENANCE OF TRAFFIC

The work under this Contract consists of Temporary Traffic Control (TTC) along the state highway system in Broward County.

The summary of pay items for this project is listed in the Bid Price Proposal.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$100,000.00 and not the contractors bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

	o / Item ID Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) BOB'S BAR	RICADES, INC.	(3) TRAF	FICO LLC
	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	(TRAFFIC CON	ITROL (MH					
	0102 14 CONTROL OFFICER	40.000 HR	90.00000	3,600.00	90.00000	3,600.00	100.00000	4,000.00
0010 0 WORK ZO	0102 60 ONE SIGN	10,000.000 ED	0.50000	5,000.00	0.75000	7,500.00	0.50000	5,000.00
	0102 71 15 ARY BARRIER, F&I, ED	20.000 LF	40.00000	800.00	125.00000	2,500.00	150.00000	3,000.00
	0102 71 16 ARY BARRIER, F&I, FREE G	160.000 LF	40.00000	6,400.00	100.00000	16,000.00	85.00000	13,600.00
	0102 74 1 LIZING DEVICE- TYPES I, I M, OR LCD	10,000.000 I, DI, ED	0.50000	5,000.00	0.50000	5,000.00	0.50000	5,000.00



Page 2 of 5

## Florida Department of Transportation



## **Tabulation of Bids**

**Letting:** 04231103 November 03, 2023 **Call Order:** 004 **Contract:** E4X04-R0

Letting	<b>g</b> : 0 <sup>2</sup>	1231103 N	ovember 03,	2023 <b>Ca</b>	II Order: 004		Contract:	E4X04-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) BOB'S BAR	RICADES, INC.	(3) TRAF	FICO LLC
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	TRAFFIC CON	NTROL (MH					
	0102 76 V BOARD / AD' V PANEL	VANCE WARNIN	4,000.000 NG ED	5.00000	20,000.00	2.00000	8,000.00	10.00000	40,000.00
	0102 99 BLE CHANGE EMPORARY	ABLE MESSAGE	250.000 E ED	11.00000	2,750.00	35.00000	8,750.00	25.00000	6,250.00
0040 MOBILI RESPO	E101 72 ZATION (EMEI NSE)	RGENCY	10.000 EA	650.00000	6,500.00	500.00000	5,000.00	1,500.00000	15,000.00
0045 TRAFFI	E102 74 9 IC CONES		6,000.000 ED	0.50000	3,000.00	6.00000	36,000.00	0.50000	3,000.00
0050 TRUCK (TEMPO	E102 97 1 MOUNTED AT DRARY)	ΓΤΕΝUATOR	30.000 ED	750.00000	22,500.00	850.00000	25,500.00	1,750.00000	52,500.00
0055 MOT M	E102100 AINTENANCE	SERVICES	300.000 HR	122.00000	36,600.00	80.00000	24,000.00	150.00000	45,000.00
0001	TRAFFIC CON	ITROL (MH) Sec	ction Totals:	1	\$112,150.00 <sup>°</sup>		\$141,850.00 <sup>°</sup>		\$192,350.00
		Contract Gra	nd Totals:		\$112,150.00		\$141,850.00		192,350.00



Page 3 of 5

## Florida Department of Transportation



## **Tabulation of Bids**

Letting:	04231103	November 03,	2023 <b>Ca</b> l	II Order: 004		Contract:	E4X04-R0	
Line No / Ite		te Quantity Units	(4) ACME BAR	RRICADES LC				
•	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(TRAFFIC CON	ITROL (MH					
0005 0102 1 TRAFFIC CONT		40.000 HR	85.00000	3,400.00				
0010 0102 6 WORK ZONE S		10,000.000 ED	2.00000	20,000.00				
0015 0102 7 TEMPORARY B ANCHORED		20.000 LF	60.00000	1,200.00				
0020 0102 7 TEMPORARY B STANDING	1 16 ARRIER, F&I, FREE	160.000 E LF	50.00000	8,000.00				
0025 0102 7 CHANNELIZING VP, DRUM, OR	DEVICE- TYPES I	10,000.000 , II, DI, ED	7.10000	71,000.00				
0030 0102 7 ARROW BOARI ARROW PANEL	O / ADVANCE WAR	4,000.000 NING ED	4.50000	18,000.00				
0035 0102 9 PORTABLE CH. SIGN, TEMPOR	ANGEABLE MESSA	250,000 AGE ED	40.00000	10,000.00				
0040 E101 7 MOBILIZATION RESPONSE)		10.000 EA	500.00000	5,000.00				
0045 E102 7		6,000.000 ED	7.00000	42,000.00				





# **Tabulation of Bids**

Page 4 of 5

<b>Letting:</b> 04231103	November 03,	2023 <b>Ca</b> l	II Order: 004		Contract:	E4X04-R0	
Line No / Item ID Alternat	e Quantity Units	(4) ACME BAR	RRICADES LC				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC CON	ITROL (MH					
0050 E102 97 1 TRUCK MOUNTED ATTENUATOR (TEMPORARY)	30.000 ED	1,500.00000	45,000.00				
0055 E102100 MOT MAINTENANCE SERVICES	300.000 HR	250.00000	75,000.00				
0001 TRAFFIC CONTROL (MH)	Section Totals:	l	\$298,600.00		ı		
		1					
Contract G	rand Totals:		\$298,600.00				



11/07/2023

#### **Tabulation of Bids**

Page 5 of 5

**Letting:** 04231103 November 03, 2023 **Call Order:** 004 **Contract:** E4X04-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.